A.REI.11 

A charity is considering the possibility of having a benefit night at two different restaurants. The owner of the local Italian restaurant has offered to make a donation of $60 and $1 per diner that night. On the other hand, the owner of the Mexican restaurant has said he could contribute $30 plus $2 per diner. Based on the number of diners who have promised to participate in the event, it appears that each restaurant would donate the same total amount. How much would each restaurant donate?

Write a system of equations, graph them, and type the solution.
A) inconsistent
B) consistent and dependent
C) consistent and independent
D) dependent and independent

A.REI.6

The functions f(x) and g(x) are defined below.

[image: image1.emf]


By graphing, determine where f(x) = g(x).

A.
x = -2

B.
x = -7

C.
x = 4

D.
x = -3

A.REI.12

A camping troop is calculating the profit it makes on each box of cookies it sells. The function f(x) = 0.5x gives the profit per box. What is the domain of the profit function if the troop has 250 boxes to sell?

A.
(0, 250]

B.
(0, 250)

C.
[0, 250]

D.
[1, 250)

A.REI.6

Which of the following best describes the solution to the system of equations below?

	9x + 7y
	= 
	9

	9x + 7y
	= 
	13


A.
[image: image2.emf]


B.
[image: image3.emf]


C.
[image: image4.emf]


D. [image: image5.emf]


A.REI.3

Solve the following inequalities.
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A.
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A.REI.3
Solve the inequality for x.  ax + b > c

A.  [image: image17.emf]


B.  [image: image18.emf]


C. [image: image19.emf]


D. [image: image20.emf]


A.REI.5

Solve the following system of equations.

	8x + 5y = 
	-120

	4x + y = 
	-36


A. x = 12, y = -84

      B. x = 5, y = -32

      C. x = -16, y = -5

      D. x = -5, y = -16
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A.
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C.
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A.REI.5

Retro Rides is a club for owners of vintage cars and motorcycles. Every year the club gets together for a ride. This year 33 vehicles participated in the ride. The total number of tires of all the vehicles was 86. Assuming each car has 4 tires and each motorcycle has 2 tires, how many each of cars and motorcycles participated in the ride?

A.
14 cars; 19 motorcycles

B.
7 cars; 26 motorcycles

C.
10 cars; 23 motorcycles

D.
12 cars; 21 motorcycles

A.REI.5

Write a system of equations to describe the situation below.

Jenny and Theresa decided to shoot arrows at a simple target with a large outer ring and a smaller bull's-eye. Jenny went first and landed 1 arrow in the outer ring and 5 arrows in the bull's-eye, for a total of 502 points. Theresa went second and got 2 arrows in the outer ring and 5 arrows in the bull's-eye, earning a total of 519 points. How many points is each region of the target worth?

A)    x - 5y = 502

      2x + 5y = 519

B)   x +  5y = 502

     2x  -  5y = 519

C)   x - 5y = 502

     2x - 5y = 519

D)   x + 5y = 502

     2x + 5y = 519

A.REI.6

The functions f(x) and g(x) are defined below. 
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By graphing, determine where f(x) = g(x).

A.
x = -2

B.
x = 4

C.
x = -6

D.
x = 2

A.REI.3
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A.REI.6

Find the solution to the equation f(x) = g(x).
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A.  (3,-3)

B. (-3,3)

C. g(x)=f(x)

D. x = 3

A.REI.1

A self-serve car wash charges $5.60 to use its facilities, plus an additional $0.64 for each minute the customer is at the self-serve car wash. If Tiffany was at the car wash for 7 minutes, how much was she charged?

A.
$12.60

B.
$10.08

C.
$4.48

D.
$6.24

